Quiz Review 8.1, 8.2 solutions.notebook March 20, 2018

The function vit) is the velodty in m'sec of a particle moving along the x-axis. Determine when the partideis movingto
the right, to the left, and stopped.
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Solvethe problem.
2) The velocity in m/secof a particle moving along the x-axis is given by the function
v(t) =2 costsint, O=t=m

Find the particle's displacement for the given time interval. {
P P! gt , n.}%m

0) )
_ )gz costEsintdt  ( zcost dy=-Sintd
o0 —

-2 3 W,  —= {% uﬂ_‘,
| =
3]

36 )



Quiz Review 8.1, 8.2 solutions.notebook March 20, 2018

The function v(t) is the velodty in m/sec of a particle moving along the x-axis. Find the total distance travel v the
particle.
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Selvethe problem.
E 3) A particle moves along the x-axis (units in an). Its initial posiionatt=0=s{cisx(0)=1 5)

The figure shows the graph of the particle's velodty v(t). The numbers are the a1 as of the
enclosed regions.
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What is the partide's displacement betweent=0and t=c?
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6) A surveyor measured the length of a piece of land at 100-ft intervals (x), as shown in the 6)
table. Use the Trapezoidal Rule to estimate the area of the piece of land in square feet
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Find the area of the regions enclosed by the lines and curves.
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Find the area of the region(s) enclosed by the given curves.
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